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Left In: 0.000+/-0.000 x2/NDF:0.0/0
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dit_ asym_sam5 rms vs Slug
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328

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 328.835+/-0.877  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

328.835+/-0.877 x?/NDF: 0.0/0




asym_sam5_mean vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 113.200+/-1937.219  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

113.200+/-1937.219  x?/NDF: 0.0/0




asym_sam5_rms vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 513.763+/-1.370  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

513.763+/-1.370  x?/NDF: 0.0/0




dit_ asym_sam6_mean vs Slug

-400

-600

-800

—-1000

lII|III|III|III|
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-1600

-1800

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -1127.324+/-669.800  x?/NDF: 0.0/0

-1127.324+/-669.800  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_ asym _sam6_rms vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 177.592+/-0.474  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

177.592+/-0.474  x?/NDF: 0.0/0




asym_sam6_mean vs Slug
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—-3500

—-4000

-4500

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -2459.847+/-2084.006  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-2459.847+/-2084.006  x?/NDF: 0.0/0



asym_samé6_rms vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 552.780+/-1.474  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

552.780+/-1.474  x?/NDF: 0.0/0




dit_ asym_sam7_mean vs Slug
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-2400

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -1597.411+/-817.908  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-1597.411+/-817.908  x2/NDF: 0.0/0



dit_ asym_sam7_rms vs Slug
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216.4—

216.2—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 216.740+/-0.578  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

216.740+/-0.578 x?/NDF: 0.0/0




asym_sam7_mean vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 3726.727+/-2389.211 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

3726.727+/-2389.211 x?/NDF: 0.0/0



asym_sam7_rms vs Slug
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634.5
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 633.904+/-1.689 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

633.904+/-1.689  x2/NDF: 0.0/0




dit_ asym_sam8 mean vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -890.765+/-631.160 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-890.765+/-631.160  x2/NDF: 0.0/0




dit_ asym _sam8 rms vs Slug

167.8

167.7

167.6
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167.4
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167.3

167.2

167.1
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166.9

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 167.347+/-0.446  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

167.347+/-0.446  X2/NDF: 0.0/0




asym_sam8_mean vs Slug
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1000
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 1447.482+/-1249.007  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

1447.482+/-1249.007

¥X%/NDF: 0.0/0



asym_sam8_rms vs Slug
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330.6
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330.2

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 330.972+/-0.883  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

330.972+/-0.883  x2/NDF: 0.0/0




dit_usl _4aX slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -95.904+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-95.904+/-0.378  x?/NDF: 0.0/0




dit_usl _4eX slope vs Slug

42.5

42.4
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41.8

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 42.140+/-0.378  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

42.140+/-0.378 X?/NDF: 0.0/0




dit_usl 11X12X slope vs Slug
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7032279761 | |

100 1002 1004
Right In: 0.000+/-0.000  X¥NDF: 0.0/0

Right Out: -28.139+/-0.000  x2/NDF: 1.5/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0

| | | | |
100.6 100.8 101

0.000+/-0.000  x2/NDF: 0.0/0

-28.139+/-0.000 x?/NDF: 1.5/0




dit_usl_4aY_slope vs Slug

14.2—

14—

13.8—

13.6—

13.4—

13.2 ==

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 13.204+/-0.000 x2/NDF: 6.0/0

13.204+/-0.000  x?/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_usl _4eY_slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -6.252+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-6.252+/-0.378  x?/NDF: 0.0/0




dit_usr_4aX_ slope vs Slug

-218.2
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-218.7

-218.8

-218.9

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -218.522+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-218.522+/-0.378  x?/NDF: 0.0/0




dit_usr_4eX_ slope vs Slug
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280.7

280.6

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 280.951+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

280.951+/-0.378 x?/NDF: 0.0/0




dit_usr _11X12X slope vs Slug
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100 100.2 1004 100.6 71008 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -29.754+/-0.000  x?/NDF: 0.0/0

-29.754+/-0.000  x?NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_usr_4aY_slope vs Slug
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18.6—

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 18.504+/-0.000 x2/NDF: 0.0/0

18.504+/-0.000 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_usr_4eY_slope vs Slug

-10.2

-10.4

-10.6

-10.8

100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -11.075+/-0.000 x?/NDF: 6.0/0

-11.075+/-0.000  X%NDF: 6.0/0

Left In: 0.000+/-0.000 x2/NDF:0.0/0




dit_atll 4aX slope vs Slug
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100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 7.170+/-0.378  x?/NDF: 0.0/0

7.170+/-0.378 X?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_atll 4eX slope vs Slug
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-45.5

-45.6

-45.7

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -45.330+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-45.330+/-0.378  x?/NDF: 0.0/0




dit_atll 11X12X slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 34.445+/-0.378 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

34.445+/-0.378  X2/NDF: 0.0/0




dit_atll _4aY slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -45.200+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-45.200+/-0.378  x?/NDF: 0.0/0




dit_atll 4eY slope vs Slug

20—

19.8—

19.6—

19.4—

19.2—

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 19.086+/-0.000 x2/NDF: 6.0/0

19.086+/-0.000 x?/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_atl2_4aX slope vs Slug

-1133.4—

-1133.6[—
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-1134—

-1134.2—

-1134.4|—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -1134.421+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-1134.421+/-0.000  x%NDF: 0.0/0




dit_atl2_4eX slope vs Slug

876.4

876.3

876.2

876.1

|
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875.9

875.8

875.7

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 876.066+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

876.066+/-0.378  x2/NDF: 0.0/0




dit_atl2 11X12X slope vs Slug
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-187.4—

-187.6—

-187.8—

-188—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -188.033+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-188.033+/-0.000  x?/NDF: 0.0/0




dit_atl2_4aY_slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 32.102+/-0.378  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

32.102+/-0.378  X?/NDF: 0.0/0




dit_atl2_4eY slope vs Slug

71.8—

7.6—

14—

1.2—

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 6.866+/-0.000 x?/NDF: 6.0/0

6.866+/-0.000 x?/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0




dit_atrl 4aX slope vs Slug

-1052.6

-1052.7

-1052.8

-1052.9
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-1053.1

-1053.2

-1053.3

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -1052.937+/-0.378  x?/NDF: 0.0/0

-1052.937+/-0.378  X2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_atrl 4eX slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 1036.068+/-0.000 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

1036.068+/-0.000 x?/NDF: 0.0/0




dit_atrl 11X12X slope vs Slug
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-241.4

-241.5

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -241.152+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-241.152+/-0.378  x?/NDF: 0.0/0




dit_atrl _4aY slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -66.739+/-0.000 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-66.739+/-0.000  x?/NDF: 0.0/0




dit_atrl 4eY slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 83.364+/-0.378 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

83.364+/-0.378  X?/NDF: 0.0/0




dit_atr2_4aX slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -1496.932+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-1496.932+/-0.000  x?/NDF: 0.0/0




dit_atr2_4eX slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 1593.304+/-0.378  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

1593.304+/-0.378  x?/NDF: 0.0/0




dit_atr2 11X12X slope vs Slug
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100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -301.178+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-301.178+/-0.378  x?/NDF: 0.0/0




dit_atr2_4aY slope vs Slug

100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -5.769+/-0.000  x?/NDF: 0.0/0

-5.769+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0




dit_atr2_4eY slope vs Slug

150.5

150.4

150.3

150.2

[T

150.1

150

149.9

149.8

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 150.119+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

150.119+/-0.378  X2/NDF: 0.0/0




dit saml 4aX slope vs Slug

-11.2—

-11.4—

-11.6—

-11.8—

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -11.872+/-0.000  x?/NDF: 0.0/0

-11.872+/-0.000  X%NDF: 0.0/0
Left In: 0.000+/-0.000  ¥%NDF:0.0/0



dit saml 4eX slope vs Slug

~1.4—

-1.6—

-1.8—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -2.410+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-2.410+/-0.000  x?/NDF: 0.0/0




dit saml 11X12X slope vs Slug

0.8—

0.6—

04—

0.2—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -0.107+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-0.107+/-0.000  x?/NDF: 0.0/0




dit saml 4aY_slope vs Slug

-81.7

-81.8

-81.9

MRAAMRRRNARRNANS

-82.1

-82.2

-82.3

-82.4

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -82.039+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-82.039+/-0.378  x2/NDF: 0.0/0




dit saml 4eY_slope vs Slug

-117

-117.1

-117.2

MMM ARAMAAARINAAS

-117.3

-117.4

-117.5

-117.6

-117.7

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -117.316+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-117.316+/-0.378  x?/NDF: 0.0/0




dit_ sam2_4aX_slope vs Slug

07467176

07467174

07467172

30746717

07467168

L

07467166

07467164

07467162

30746716

07467158

07467156 55 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 95.846+/-0.000 x2/NDF: 0.0/0

95.846+/-0.000 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_ sam2_4eX slope vs Slug

-497.8—

-498—

-498.2—

-498.4—

—498.6 —

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -498.692+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-498.692+/-0.000  x?/NDF: 0.0/0




dit sam2_ 11X12X_slope vs Slug

3.8—

3.6—

3.4—

3.2—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 3.123+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

3.123+/-0.000 x2/NDF: 0.0/0




dit sam2_4aY_slope vs Slug

924

92.3

92.2

92.1

[T

92

91.9

91.8

91.7

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 92.022+/-0.378  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

92.022+/-0.378  X?/NDF: 0.0/0




dit sam2_4eY_slope vs Slug

-482.8—

-483—

-483.2—

~483.4|—

-483.6[—

-483.8—=

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -483.800+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-483.800+/-0.000  x?/NDF: 0.0/0




49596085

04959609

49596095

)49596101

49596106

149596111

49596117

49596122

49596127

49596133

49596138

dit_ sam3_4aX_slope vs Slug

|JIIII|IIII|IIII|IIII|IIII

100

100.2

100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -26.577+/-0.000  x2/NDF: 1.5/0

Left In: 0.000+/-0.000  x?/NDF:0.0/0

100.6 100.8 101

0.000+/-0.000  x2/NDF: 0.0/0

-26.577+/-0.000 x?/NDF: 1.5/0




dit_ sam3_4eX slope vs Slug

-49.9

-50.1

-50.2

[T T

-50.3

-50.4

—-50.5

—-50.6

_507 | | | | | | | | |

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -50.299+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-50.299+/-0.378  x?/NDF: 0.0/0




dit sam3 11X12X_ slope vs Slug

|

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -0.534+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-0.534+/-0.378  x?/NDF: 0.0/0




dit sam3_4aY_slope vs Slug

-31.1

-31.2

-31.3

l|IIII|IIII|IIII|IIII|

-31.4

-31.5

-31.6

-31.7

=818 .

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -31.406+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-31.406+/-0.378  x?/NDF: 0.0/0




dit sam3_4eY_slope vs Slug

38.2—

38—

37.8—

37.6—

37.4—

37.2—=

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 37.191+/-0.000 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

37.191+/-0.000 Xx?/NDF: 0.0/0




dit sam4 _4aX_ slope vs Slug

3.7

3.6

3.5

3.4

|

3.3

3.2

3.1

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 3.346+/-0.378  x?/NDF: 0.0/0

3.346+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit sam4 4eX slope vs Slug

-126.6

-126.7

-126.8

-126.9

lIIII|IIII|IIII|IIII|

-127

-127.1

-127.2

-127.3

-127.4 | 1 1 1 | 1 1 1 |

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -126.993+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-126.993+/-0.378  x?/NDF: 0.0/0




dit sam4 11X12X_ slope vs Slug

1.9

1.8

1.7

l|IIII|IIII|IIII|IIII|

1.6

15

1.4

1.3

1.2

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 1.596+/-0.378  x?/NDF: 0.0/0

1.596+/-0.378  X2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit sam4_4aY_slope vs Slug

-15.3

-15.4

-15.5

-15.6

l|IIII|IIII|IIII|IIII|

-15.7

-15.8

-15.9

-16

-16.1

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -15.709+/-0.378  x?/NDF: 0.0/0

-15.709+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



176.4

176.2

176

175.8

175.6

dit sam4 _4eY_slope vs Slug

100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

Right Out: 175.536+/-0.000 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

175.536+/-0.000 x2/NDF: 0.0/0




dit sam5 4aX_ slope vs Slug

-18.9

-19

-19.1

-19.2

[T

-19.3

-19.4

-19.5

-19.6

100 100.2 100.4 100.6 100.8 101

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -19.279+/-0.378  x?/NDF: 0.0/0

-19.279+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit sam5 4eX slope vs Slug

26.6

26.5

26.4

26.3

[T

26.2

26.1

26

25.9

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 26.220+/-0.378  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

26.220+/-0.378  X?/NDF: 0.0/0




dit sam5 11X12X_slope vs Slug

lII|IIII|IIII|IIII|III

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -0.644+/-0.378  x?/NDF: 0.0/0

-0.644+/-0.378  X2/NDF: 0.0/0
Left In: 0.000+/-0.000  ¥%NDF:0.0/0




dit sam5_4aY_slope vs Slug

90.6—

90.4—

90.2—

90—

89.8—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 89.735+/-0.000 x?/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

89.735+/-0.000  x?/NDF: 6.0/0




dit sam5 4eY_slope vs Slug

28.8—

28.6—

28.4—

28.2—

28—

27.8—=

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 27.798+/-0.000 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

27.798+/-0.000  x?/NDF: 0.0/0




dit sam6_4aX_ slope vs Slug

28.2—

28—

27.8—

27.6—

27.41—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 27.342+/-0.000 x2/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

27.342+/-0.000 Xx?/NDF: 6.0/0




dit sam6_4eX_slope vs Slug

17871509

81787151

17871512

17871513

17871514

[T

17871515

17871516

17871517

17871518

17871519

817871521+ o+ 4 1 4 4 4 |

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -5.568+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-5.568+/-0.000  x?/NDF: 0.0/0




dit sam6_11X12X_slope vs Slug

12—

0.8—
0.6—

0.4

0.2

T T
o] |

00 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.227+/-0.000  x?/NDF: 6.0/0

0.227+/-0.000 x?/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit sam6_4aY_slope vs Slug

44.4

44.3

44.2

441

[T

44

43.9

43.8

43.7

436 | | | | | | | | |

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 43.998+/-0.378 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

43.998+/-0.378  x2/NDF: 0.0/0




25009297

25009296

25009296

25009296

25009295

25009295

25009295

25009294

25009294

25009294

25009293

dit sam6_4eY_slope vs Slug

[T

100

100.2

100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 1.758+/-0.000  x?/NDF: 0.0/0

Left In: 0.000+/-0.000  x?/NDF:0.0/0

100.6 100.8

0.000+/-0.000  x2/NDF: 0.0/0

1.758+/-0.000 x2/NDF: 0.0/0

101




dit_ sam7_4aX_ slope vs Slug

94.8F—

94.6—

94.41—

94.2—

94—

93.8—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 93.762+/-0.000 x2/NDF: 6.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

93.762+/-0.000  x?/NDF: 6.0/0




-132.6

-132.8

-133

-133.2

-133.4

dit_ sam7_4eX slope vs Slug

[—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -133.456+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-133.456+/-0.000  x?/NDF: 0.0/0




dit sam7_11X12X_slope vs Slug

1.6

15

1.4

1.3

1.2

1.1

0.9

IIII|IIII|IIII|IIII|IlIII|IIII|IIII|IIII|I

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 1.225+/-0.378  x?/NDF: 0.0/0

1.225+/-0.378  X2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



dit_ sam7_4aY_slope vs Slug

lII|IIII|IIII|IIII|III

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -8.648+/-0.378  x?/NDF: 0.0/0

-8.648+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0




dit sam7_4eY_slope vs Slug

8.8

8.7

8.6

8.5

lIIII|IIII|IIII|IIII|I

8.4

8.3

8.2

8.1

8 | | | | | | | | | | | | | | | | | | | |

100 100.2 100.4 100.6 100.8

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 8.416+/-0.378  x?/NDF: 0.0/0

8.416+/-0.378  ¥2/NDF: 0.0/0
Left In: 0.000+/-0.000  ¥%NDF:0.0/0



dit_ sam8 4aX_ slope vs Slug

49.8

49.7

49.6

49.5

[T

49.4

49.3

49.2

49.1

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 49.420+/-0.378 x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

49.420+/-0.378  x?/NDF: 0.0/0




dit sam8 4eX slope vs Slug

—-65.7

-65.8

-65.9

l|IIII|IIII|IIII|IIII

—-66.1

—66.2

—-66.3

-66.4

-66.5

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -66.114+/-0.378 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-66.114+/-0.378  x?/NDF: 0.0/0




dit sam8 11X12X_ slope vs Slug

0.8—

0.6—

04—

0.2—

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 0.030+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

0.030+/-0.000  x2/NDF: 0.0/0




dit sam8 4aY_slope vs Slug

-57.9

-58.1

-58.2

lI|IIII|IIII|IIII|IIII

-58.3

-58.4

-58.5

-58.6

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -58.230+/-0.378  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-58.230+/-0.378  x?/NDF: 0.0/0




dit sam8 4eY_slope vs Slug

55.8

55.7

55.6

55.5

l|IIII|IIII|IIII|IIII|

55.4

55.3

55.2

55.1

S5

100 100.2 100.4

Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 55.392+/-0.378  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

55.392+/-0.378  X?/NDF: 0.0/0




dit 4aX_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4aX coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eX coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_11X12X coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coill _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4aY coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coill _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eY coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coill _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coill err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2 coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coill _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coill Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coill _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coill _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coill Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2 coill _Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coill _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coill _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coill Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam2_coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coill _Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_ coill _Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 _coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 coill _Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5 coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam5_ coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5 coill _Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coill _Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam7_coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam7_coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coill _Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coill_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coill_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coill Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil3_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_ coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil3_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_11X12X coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil3 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil3_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil3_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil3_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil3_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil3 _Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil3_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil3 Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 _coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4_ coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5 coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5_ coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5_ coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam7_coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil3_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil3_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil3_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4aX coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil7_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eX_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eX coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ 4eX_coil7_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_11X12X coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil7_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4aY coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil7_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eY coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil7_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil7_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil7_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil7_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam2_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam2_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam3_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam5_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5_ coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5_ coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ sam8 coil7_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil7_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil7_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4aX coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eX coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_11X12X coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4aY coil4 _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_4eY coil4 _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl coil4 mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil4 _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil4 Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil4d _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2 _coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil4d _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil4 Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil4 err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil4 Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil4 _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil4 _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2 coil4 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil4 Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil4 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil4 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 _coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4_coil4 _Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5_coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5 coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam5 coil4 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam6_coil4 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam7_coil4 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil4_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil4_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam8 coil4 Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aX_coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eX_coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_11X12X coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 11X12X coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4aY_coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit 4eY_coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usl _coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_usr_coil6_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atll coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atl2_coil6_Ndata mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil6 _err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atrl coil6 Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_atr2 coil6_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit saml coil6_Ndata _mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam2_coil6_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil6_err_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam3_coil6_Ndata_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit sam4 coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
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dit sam5 coil6_Ndata_mean vs Slug
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dit sam6_coil6_mean vs Slug
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dit sam8 coil6_mean vs Slug

0.8—

0.6—

04—

0.2—

Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0
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dit_slug_slope vs Slug
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dit_cyclenum_mean vs Slug
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dit_cyclenum_rms vs Slug
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dit_ scandatal mean vs Slug
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Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_scandatal rms vs Slug
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Right Out: 0.000+/-0.000  x?/NDF: 0.0/0

0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



dit_ scandata2_mean vs Slug
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dit_scandata2_rms vs Slug
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dit_flag_mean vs Slug
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dit_flag_rms vs Slug
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0.000+/-0.000  x?/NDF: 0.0/0
Left In: 0.000+/-0.000  x?/NDF:0.0/0



reg_asym_saml_diff bpm4aX_slope vs Slug
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reg_asym_saml_diff bpm4aY_slope vs Slug
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Left In: 0.000+/-0.000 x2/NDF:0.0/0



reg_asym_saml_diff bpm4eX_ slope vs Slug
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reg_asym_saml_diff bpm4eY_slope vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 32.707+/-3.422  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

32.707+/-3.422  X2/NDF: 0.0/0




reg_asym_saml_diff bpm12X_ slope vs Slug
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reg_asym_sam?2_diff bpm4aX_slope vs Slug
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Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-295.397+/-33.184  x?/NDF: 0.0/0




reg_asym_sam?2_diff bpm4aY_slope vs Slug
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Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-289.178+/-30.310  x2/NDF: 0.0/0




reg_asym_sam?2_diff bpm4eX_slope vs Slug
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Right Out: -26.904+/-32.563  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0
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-26.904+/-32.563  x?/NDF: 0.0/0




reg_asym_sam?2_diff bpm4eY_slope vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 30.475+/-34.787  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

30.475+/-34.787  x?/NDF: 0.0/0




reg_asym_sam?2_diff bpm12X_ slope vs Slug
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Left In: 0.000+/-0.000  x?/NDF:0.0/0
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reg_asym_sama3_diff bpm4aX_slope vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -162.127+/-14.175  x?/NDF: 0.0/0

-162.127+/-14.175  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



reg_asym_sama3_diff bpm4aY_slope vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: -1.665+/-12.902 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

-1.665+/-12.902  x?/NDF: 0.0/0




reg_asym_sama3_diff bpm4eX_slope vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 12.815+/-13.908 x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0

0.000+/-0.000  x2/NDF: 0.0/0

12.815+/-13.908  Xx2/NDF: 0.0/0




reg_asym_sama3_diff bpm4eY_slope vs Slug
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0
0.000+/-0.000  x?/NDF: 0.0/0
Right Out: -0.122+/-14.809  x?/NDF: 0.0/0

-0.122+/-14.809  x2/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0



reg_asym_sama3_diff bpm12X_ slope vs Slug
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reg_asym_sam4_diff bpm4aX_slope vs Slug
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Right Out: -134.774+/-12.909  x?/NDF: 0.0/0
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Left In: 0.000+/-0.000 x2/NDF:0.0/0



reg_asym_sam4_diff bpm4aY_slope vs Slug
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Left In: 0.000+/-0.000 x2/NDF:0.0/0



reg_asym_sam4_diff bpm4eX_slope vs Slug
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reg_asym_sam4_diff bpm4eY_slope vs Slug
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reg_asym_sam4_diff bpm12X_ slope vs Slug
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reg_asym_sam5_diff bpm4aX_slope vs Slug
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reg_asym_sam5_diff bpm4aY_slope vs Slug
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reg_asym_sam5_diff bpm4eX_slope vs Slug
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reg_asym_sam5_diff bpm4eY_slope vs Slug
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Right Out: -0.666+/-0.162  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0
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Right Out: -24.928+/-9.858  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0
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Right Out: -11.200+/-18.588  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0
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Left In: 0.000+/-0.000 x2/NDF:0.0/0
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Right In: 0.000+/-0.000  x?/NDF: 0.0/0

Right Out: 25.289+/-42.443  x?/NDF: 0.0/0
Left In: 0.000+/-0.000 x2/NDF:0.0/0
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Left In: 0.000+/-0.000 x2/NDF:0.0/0
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